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Arithmetic Sequence
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Determine if the sequence is arithmetic. If it is, find the common difference.
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Determine if the sequence is arithmetic. If it is, find the common difference, the 52nd term, and the

explicit formula. oo
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Determine if the sequence is arithmetic. If it is, find the common difference, the term named in the

problem, the explicit formula, and the three terms in the sequence after the last one given.
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Given a term in an arithmetic sequence and the common difference find the 52nd term and the explicit

formula.
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Given two terms in an arithmetic sequence find the comimon difference, the 52nd term, and the explicit

formula.
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HPC
 Arithmetic Series

Evaluate the relateq@@f each sequence.
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Evaluate each arithmetic series described.
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Determine the number of terms 7 in each arithmetic series.
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Arithmetic Sequence & Series Date

Determine if the sequence is arithmetic. If it is, find the common difference, the term named in the
problem, and the explicit formula.
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Given two terms in an arithmetic sequence find the explicit formula.
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Given two terms in an arithmetic sequence find the common difference, the term named in the problem,
and the explicit formula.
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Evaluate each arithmetic series described.
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HPC Arithmetic Sequence & Series Ch. 8

1) A brick patio has the approximate shape of a trapezoid. The patio has 18 rows of bricks. The
first row has 14 bricks and the 18" row has 31 bricks. How many bricks are in the patio?
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2) Each row in a small auditorium has two more seats than the preceding row. Find the seating
capacity if the front row seats 25.people and there are 15 rows of seats.
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3) A small hardware store makes a profit of $20,000 during its first year. The store owner sets a
goal of raising profits by $5000 each year for 4 years. Assuming that this goal is met, find
the total profit during the first 5 years of business.
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4) Consider a job offer with a starting salary of $32,500 with an annual raise of $1500.
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b) What is the total compensation for the company through 6 full years of employment/?
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